



## Hankel Determinant for Certain Subclasses of Analytic Function

Hamzat Jamiu Olusegun<sup>1\*</sup> and Oni Abiola Ayobami<sup>1</sup>

<sup>1</sup>Department of Pure and Applied Mathematics, Ladoke Akintola University of Technology, P.M.B. 4000, Ogbomoso, Nigeria.

### Authors' contributions

This work was carried out in collaboration between both authors. Author HJO designed the study, performed the statistical analysis, wrote the protocol and wrote the first draft of the manuscript. Author OAA managed the analyses of the study. Authors HJO and OAA managed the literature searches. Both authors read and approved the final manuscript.

### Article Information

DOI: 10.9734/ARJOM/2017/33817

#### Editor(s):

(1) Hamidah Ibrahim, Department of Computer Science, Universiti Putra Malaysia, Malaysia.

#### Reviewers:

(1) Luis Angel Gutierrez-Mendez, Autonomous University of Puebla, Mexico.

(2) Şahsene Altınkaya, Uludağ University, Turkey.

(3) Mohan Das, Manipal Institute of Technology, India.

(4) Airault Hélène, Université de Picardie Jules Verne, France.

(5) K. Rajya Laxmi, SR International Institute of Technology, India.

Complete Peer review History: <http://www.sciencedomain.org/review-history/19998>

Received: 30<sup>th</sup> April 2017

Accepted: 20<sup>th</sup> June 2017

Published: 11<sup>th</sup> July 2017

Original Research Article

## Abstract

Let  $S$  denote the class of analytic functions normalized and univalent in the open unit disk.

$U = \{z : |z| < 1\}$ . The prime focus of the present paper is to obtain sharp upper bounds for the functional

$|a_{\alpha+2} - \mu a_{\alpha+1}^2|$  and  $|a_{\alpha+1}a_{\alpha+3} - a_{\alpha+2}^2|$  for functions belonging to the class  $T_n^\alpha(a, c, \beta, \lambda, l)$ .

Keywords: Univalent; analytic; starlike; second Hankel determinant.

\*Corresponding author: E-mail: emmanther2012@gmail.com;

## 1 Introduction

Let  $A$  denote the class of analytic functions of the form:

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

in the unit disk  $U = \{z : |z| < 1\}$  and normalized with  $f(0) = f'(0) - 1 = 0$ . Also, we denote the subclass of  $A$  consisting of univalent functions  $f(z)$  in the unit disk  $U$  by  $S$ . Now, the following classes of analytic functions shall be recalled.

Let  $f \in A$ . Then,  $f \in S^*$  if and only if

$$\Re \left\{ \frac{zf'(z)}{f(z)} \right\} > 0, \quad z \in U. \tag{2}$$

This is called the class of starlike functions. Also, let  $f \in A$ . Then  $f \in C$  if and only if

$$\Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > 0, \quad z \in U. \tag{3}$$

This is referred to as the class of convex functions. These two classes have been widely studied by various authors such as [1-4] to mention but few (see also [5]). The theory of analytic functions has wide application in many physical problems such as fluid flows, heat conduction, aerodynamics and so on.

Now, let  $A(\alpha)$  denote the class of functions of the form:

$$f_{\alpha}(z) = z^{\alpha} + \sum_{k=\alpha+1}^{\infty} a_k z^k, \quad \alpha \in N = \{1, 2, 3, \dots\} \tag{4}$$

which are analytic and  $\alpha$ -valent in the open unit disk  $U$ . Suppose that we define the  $\alpha$ -modified Catas derivative operator  $I_{\alpha}^n(\lambda, l)$  as follows:

$$I_{\alpha}^0(\lambda, l)f(z) = f(z) = z^{\alpha} + \sum_{k=\alpha+1}^{\infty} a_k z^k \tag{5}$$

$$\begin{aligned} I_{\alpha}^1(\lambda, l)f(z) &= I_{\alpha}^0(\lambda, l)f(z) \left( \frac{1-\lambda+l}{1+l} \right) + \left( I_{\alpha}^0(\lambda, l)f(z) \right)' \left( \frac{\lambda z}{1+l} \right) \\ &= \left( \frac{1+\lambda(\alpha-1)+l}{1+l} \right) z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \left( \frac{1+\lambda(k-1)+l}{1+l} \right) a_k z^k \end{aligned} \tag{6}$$

$$\begin{aligned}
 I_{\alpha}^2(\lambda, l)f(z) &= I_{\alpha}^1(\lambda, l)f(z)\left(\frac{1-\lambda+l}{1+l}\right) + \left(I_{\alpha}^1(\lambda, l)f(z)\right)'\left(\frac{\lambda z}{1+l}\right) \\
 &= \left(\frac{1+\lambda(\alpha-1)+l}{1+l}\right)^2 z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^2 a_k z^k
 \end{aligned}
 \tag{7}$$

$$\begin{aligned}
 I_{\alpha}^3(\lambda, l)f(z) &= I_{\alpha}^2(\lambda, l)f(z)\left(\frac{1-\lambda+l}{1+l}\right) + \left(I_{\alpha}^2(\lambda, l)f(z)\right)'\left(\frac{\lambda z}{1+l}\right) \\
 &= \left(\frac{1+\lambda(\alpha-1)+l}{1+l}\right)^3 z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^3 a_k z^k
 \end{aligned}
 \tag{8}$$

and in general

$$\begin{aligned}
 I_{\alpha}^n(\lambda, l)f(z) &= I_{\alpha}^{n-1}(\lambda, l)f(z)\left(\frac{1-\lambda+l}{1+l}\right) + \left(I_{\alpha}^{n-1}(\lambda, l)f(z)\right)'\left(\frac{\lambda z}{1+l}\right) \\
 &= \left(\frac{1+\lambda(\alpha-1)+l}{1+l}\right)^n z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^n a_k z^k
 \end{aligned}
 \tag{9}$$

$$\lambda \geq 0; \quad l \geq 0; \quad n \in N_0; \quad \alpha \in N \text{ and } z \in U.$$

By specializing the parameters involved in (9), various derivative operators (known and new) are obtained (see [6-10] among others).

Let us also define the function  $\varphi^{\alpha}(a, c; z)$  by

$$\varphi^{\alpha}(a, c; z) = z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \frac{(a)_{k-1}}{(c)_{k-1}} z^k \tag{10}$$

$\alpha \in N; a \in \mathfrak{R}; c \in \mathfrak{R} - \{0, -1, -2, \dots\}$  and  $z \in U$ , where  $(a)_k$  is the Pochhammer symbol defined by

$$(a)_k = \frac{\gamma(a+k)}{\gamma(a)} = \begin{cases} 1, & k = 0 \\ a(a+1)(a+2)\dots(a+k-1), & k \in N. \end{cases} \tag{11}$$

Or

$$(a)_k = \frac{\gamma(a+k)}{\gamma(a)} = \frac{1}{a+k} \left\{ \prod_{j=1}^{k+1} (a+j-1) \right\}, \quad k \in N_0 = N \cup \{0\}. \tag{12}$$

With the aid of (9) and (10), we define a linear operator

$$J_n^{\alpha}(a, c)f(z) = \left(\frac{1+\lambda(\alpha-1)+l}{1+l}\right)^n z^{\alpha} + \sum_{k=\alpha+1}^{\infty} \frac{(a)_{k-1}}{(c)_{k-1}} \left(\frac{1+\lambda(k-1)+l}{1+l}\right)^n a_k z^k \tag{13}$$

**Remark**

For  $\lambda = 1$ ,  $n = l = 0$  and  $\alpha = 1$  operator (13) cracks down to Carlson-Shaffer operator(see [11]), and also for different values of the parameters involved the operator in (13) reduces to the likes of the Saitoh operator [12] and recently the Mahzoon-Lotha [13] operator. In particular, if  $\lambda = 1$ ,  $\alpha = 1$  and  $a = c$  we have the celebrated Salagean derivative operator. However, our prime focus is to examine the coefficient bound, Fekete-Szego problem and the second Hankel determinant for functions in the analytic class  $T_n^\alpha(a, c, \beta, \lambda, 1)$ .

With this in mind, we define the following class of analytic functions.

Suppose that the function  $f_\alpha(z)$  is of the form (4). Then  $f_\alpha(z) \in T_n^\alpha(a, c, \beta, \lambda, 1)$  if it satisfies the condition that:

$$\Re \left\{ \frac{z \left[ J_n^\alpha(a, c) f_\alpha(z) + \beta z (J_n^\alpha(a, c) f_\alpha(z))' \right]}{\alpha \left[ J_n^\alpha(a, c) f_\alpha(z) + \beta z (J_n^\alpha(a, c) f_\alpha(z))' \right]} \right\} > 0, \tag{14}$$

$$\alpha \in N; \quad a \in \Re; \quad c \in \Re - \{0, -1, -2, \dots\}, \quad 0 \leq \beta < 1 \text{ and } z \in U .$$

Noonan and Thomas [14] stated the  $q^{th}$  Hankel determinant for  $q \geq 1$  and  $n \geq 1$  as

$$H_q(n) = \begin{vmatrix} a_n & a_{n+1} & \dots & a_{n+q-1} \\ a_{n+1} & \dots & \dots & \dots \\ \dots & \dots & \dots & \dots \\ a_{n+q-1} & \dots & \dots & a_{n+2q-2} \end{vmatrix}$$

This determinant has been repeatedly investigated by several authors and researchers (see [15-17, 1, 18-20]).

In particular, one can observe that the Fekete and Szego functional is  $H_2(1)$ . Fekete and Szego [1] then further generalized the estimate  $|a_3 - \mu a_2^2|$  where  $\mu$  is real and  $f \in S$ .

Also, for the purpose of the present investigation we consider the second Hankel determinant in which  $q = 2$  and  $n = 2$ , such that

$$H_2(2) = \begin{vmatrix} a_2 & a_3 \\ a_3 & a_4 \end{vmatrix} \quad \alpha \in N .$$

**2 Preliminary Results**

Let  $P$  (Class of Caratheodory functions) be the family of all functions  $p$  analytic in  $U$  for which  $p(0) = 1$ ,  $\Re\{p(z)\} > 0$  and

$$p(z) = 1 + p_1 z + p_2 z^2 + \dots \quad z \in D \tag{15}$$

in the unit disk  $D$  (see [21]).

**Lemma 2.1 [21].** If  $p \in \mathbf{P}$  (class of Caratheodory functions), then  $|p_k| \leq 2$  for each  $k$ , ( $k = 1, 2, \dots$ ).

**Lemma 2.2 [18].** If  $p \in \mathbf{P}$ , then

$$p_2 = \frac{1}{2} [p_1^2 + (4 - p_1^2)x],$$

And

$$p_3 = \frac{1}{4} [p_1^3 + 2p_1(4 - p_1^2)x - p_1(4 - p_1^2)x^2 + 2(4 - p_1^2)(1 - |x|^2)z]$$

for some value of  $x, z$  such that  $|x| \leq 1$  and  $|z| \leq 1$ .

### 3 Main Results

**Theorem 3.1.** Let  $f_\alpha(z) \in T_n^\alpha(a, c, \beta, \lambda, l)$  Then, for  $\lambda \geq 0; l \geq 0; a \in \mathfrak{R}; c \in \mathfrak{R} - \{0, -1, -2, \dots\}; \alpha \in N; 0 \leq \beta < 1; n \in N_0$  and  $z \in U$

$$|a_{\alpha+1}| \leq \frac{(c)_\alpha}{(a)_\alpha} \cdot \frac{p_1}{\psi \gamma_1 \phi_1}, \quad |a_{\alpha+2}| \leq \frac{(c)_{\alpha+1}}{(a)_{\alpha+1}} \cdot \frac{(\alpha p_1^2 + p_2)}{2\psi \gamma_2 \phi_2}, \quad |a_{\alpha+3}| \leq \frac{(c)_{\alpha+2}}{(a)_{\alpha+2}} \cdot \frac{(\alpha^2 p_1^3 + 3\alpha p_1 p_2 + 2p_3)}{6\psi \gamma_3 \phi_3}$$

where

$$\gamma_1 = [1 + \beta(1 + \alpha)], \quad \gamma_2 = [1 + \beta(2 + \alpha)], \quad \gamma_3 = [1 + \beta(3 + \alpha)], \quad \phi_1 = \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha - 1) + l} \right)^n,$$

$$\phi_2 = \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha - 1) + l} \right)^n, \quad \phi_3 = \left( \frac{1 + \lambda(2 + \alpha) + l}{1 + \lambda(\alpha - 1) + l} \right)^n \quad \text{and} \quad \psi = \frac{1}{\alpha(1 + \alpha\beta)}$$

**Proof:** Supposing  $f_\alpha(z) \in T_n^\alpha(a, c, \beta, \lambda, l)$ , then we have that

$$\frac{z [J_n^\alpha(a, c) f(z) + \beta z (J_n^\alpha(a, c) f(z))']}{\alpha [J_n^\alpha(a, c) f(z) + \beta z (J_n^\alpha(a, c) f(z))']} = p(z). \tag{16}$$

where  $p(z)$  is as defined in (15). This implies that

$$1 + \sum_{k=\alpha+1}^{\infty} \frac{(a)_{k-1}}{(c)_{k-1}} k (1 + \beta k) \psi \left( \frac{1 + \lambda(k - 1) + l}{1 + \lambda(\alpha - 1) + l} \right)^n a_k z^{k-\alpha}$$

$$= (1 + p_1 z + p_2 z^2 + p_3 z^3 + p_4 z^4 + \dots) \left( 1 + \sum_{k=\alpha+1}^{\infty} \frac{(a)_{k-1}}{(c)_{k-1}} \alpha (1 + Bk) \psi \left( \frac{1 + \lambda(k-1) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_k z^{k-\alpha} \right) \quad (17)$$

By comparing the coefficients of the like power of  $z$  in (17), we obtain

$$\begin{aligned} & \frac{(a)_{\alpha}}{(c)_{\alpha}} (1 + \alpha) [1 + \beta(1 + \alpha)] \psi \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+1} \\ &= \frac{(a)_{\alpha}}{(c)_{\alpha}} \alpha [1 + \beta(1 + \alpha)] \psi \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+1} + p_1, \end{aligned} \quad (18)$$

$$\begin{aligned} & \frac{(a)_{\alpha+1}}{(c)_{\alpha+1}} (2 + \alpha) [1 + \beta(2 + \alpha)] \psi \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+2} \\ &= \frac{(a)_{\alpha+1}}{(c)_{\alpha+1}} \alpha [1 + \beta(2 + \alpha)] \psi \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+2} \\ &+ \frac{(a)_{\alpha}}{(c)_{\alpha}} \alpha [1 + \beta(1 + \alpha)] \psi \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+1} + p_2 \end{aligned} \quad (19)$$

and

$$\begin{aligned} & \frac{(a)_{\alpha+2}}{(c)_{\alpha+2}} (3 + \alpha) [1 + \beta(3 + \alpha)] \psi \left( \frac{1 + \lambda(2 + \alpha) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+3} \\ &= \frac{(a)_{\alpha+2}}{(c)_{\alpha+2}} \alpha [1 + \beta(3 + \alpha)] \psi \left( \frac{1 + \lambda(2 + \alpha) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+3} + \frac{(a)_{\alpha+1}}{(c)_{\alpha+1}} \alpha [1 + \beta(2 + \alpha)] \psi \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+2} p_1 \\ &+ \frac{(a)_{\alpha}}{(c)_{\alpha}} \alpha [1 + \beta(1 + \alpha)] \psi \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha-1) + l} \right)^n a_{\alpha+1} p_2 + p_3 \end{aligned} \quad (20)$$

and this ends the proof of theorem3.1.

**Theorem 3.2.** Let  $f_{\alpha}(z) \in T_n^{\alpha}(a, c, \beta, \lambda, l)$  Then, for  $\lambda \geq 0; l \geq 0; a \in \Re; c \in \Re - \{0, -1, -2, \dots\};$   
 $\alpha \in N; 0 \leq \beta < 1; \mu \in \Re; n \in N_0$  and  $z \in U$

$$\left| a_{\alpha+2} - \mu a_{\alpha+1}^2 \right| \leq \frac{1}{2\psi^2 (a)_{\alpha}^2 (a)_{\alpha+1} \gamma_1^2 \gamma_2 \phi_1^2 \phi_2} \left| (a)_{\alpha}^2 (c)_{\alpha+1} \gamma_1^2 \phi_1^2 \psi(\alpha p_1^2 + p_2) - 2\mu (a)_{\alpha+1} (c)_{\alpha}^2 \gamma_2 \phi_2 p_1^2 \right|$$

where

$$\gamma_1 = [1 + \beta(1 + \alpha)], \quad \gamma_2 = [1 + \beta(2 + \alpha)], \quad \gamma_3 = [1 + \beta(3 + \alpha)], \quad \phi_1 = \left( \frac{1 + \alpha\lambda + l}{1 + \lambda(\alpha - 1) + l} \right)^n,$$

$$\phi_2 = \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha - 1) + l} \right)^n, \quad \phi_3 = \left( \frac{1 + \lambda(2 + \alpha) + l}{1 + \lambda(\alpha - 1) + l} \right)^n \quad \text{and} \quad \psi = \frac{1}{\alpha(1 + \alpha\beta)}$$

**Proof:** The proof follows immediately from (18) and (19).

Next, we proceed to the Hankel determinant.

**Theorem 3.3.** Let  $f_\alpha(z) \in T_n^\alpha(a, c, \beta, \lambda, l)$  Then, for  $\lambda \geq 0; l \geq 0; a \in \Re; c \in \Re - \{0, -1, -2, \dots\}; \alpha \in N; 0 \leq \beta < 1; n \in N_0$  and  $z \in U$

$$\left| a_{\alpha+1} a_{\alpha+3} - a_{\alpha+2}^2 \right| \leq \frac{\alpha(c)_{\alpha+1}^2 (1 + \alpha\beta)}{(a)_{\alpha+1}^2 \gamma_2^2 \phi_2^2}$$

Where

$$\gamma_2 = [1 + \beta(2 + \alpha)] \quad \text{and} \quad \phi_2 = \left( \frac{1 + \lambda(1 + \alpha) + l}{1 + \lambda(\alpha - 1) + l} \right)^n.$$

**Proof:** As  $f_\alpha(z) \in T_n^\alpha(a, c, \beta, \lambda, l)$  from theorem 3.1, using (18), (19) and (20) we have that,

$$a_{\alpha+1} a_{\alpha+3} - a_{\alpha+2}^2 = \frac{1}{H(\alpha)} \left[ (M - N) \alpha^2 p_1^4 + (3M - 2N) \alpha p_1^2 p_2 + 2M p_1 p_3 - N p_2^2 \right] \quad (21)$$

where

$$M = 2(c)_\alpha (c)_{\alpha+2} (a)_{\alpha+1}^2 \gamma_2^2 \phi_2^2,$$

$$N = 3(a)_\alpha (a)_{\alpha+2} (c)_{\alpha+1}^2 \gamma_1 \gamma_3 \phi_1 \phi_3,$$

$$H(\alpha) = 12(a)_\alpha (a)_{\alpha+2} (a)_{\alpha+1}^2 \psi^2 \gamma_1 \gamma_2^2 \gamma_3 \phi_1 \phi_2^2 \phi_3$$

and  $\gamma_1, \gamma_2, \gamma_3, \phi_1, \phi_2, \phi_3$  are as earlier defined.

Now, using lemma 2.1 and lemma 2.2, we obtain

$$\left| a_{\alpha+1} a_{\alpha+3} - a_{\alpha+2}^2 \right| \leq \frac{1}{4H(\alpha)} \left| \begin{array}{l} 4\alpha^2 (M - N) p_1^4 + 2\alpha(3M - 2N)(p_1^4 + p_1^2(4 - p_1^2)x) \\ + 2M(p_1^4 + 2p_1^2(4 - p_1^2)x - p_1^2(4 - p_1^2)x^2 + 2p_1(4 - p_1^2)(1 - |x|^2)z) \\ - N(p_1^2 + (4 - p_1^2)x)^2 \end{array} \right|.$$

Assuming that  $p_1 = p$  and  $p \in [0, 2]$ , using triangular inequality and  $|z| \leq 1$ , we obtain

$$|a_{\alpha+1}a_{\alpha+3} - a_{\alpha+2}^2| \leq \frac{1}{4H(\alpha)} \left\{ \begin{aligned} & [4\alpha^2(M-N) + 2\alpha(3M-2N) + 2M-N]p^4 \\ & + [2\alpha(3M-2N) + 4M-2N]p^2(4-p^2)\delta - [2Mp^2 + N(4-p^2)](4-p^2)\delta^2 \\ & 4Mp(4-p^2) - 4Mp(4-p^2)\delta^2 \end{aligned} \right\}$$

$$= \frac{1}{4H(\alpha)} F(\delta) \tag{22}$$

where,  $\delta = |x| \leq 1$  and

$$F(\delta) = [4\alpha^2(M-N) + 2\alpha(3M-2N) + 2M-N]p^4 + [2\alpha(3M-2N) + 4M-2N]p^2(4-p^2)\delta - [2Mp^2 + N(4-p^2)](4-p^2)\delta^2 + 4Mp(4-p^2) - 4Mp(4-p^2)\delta^2$$

is an increasing function.

Therefore,

$$\text{Max} F(\delta) = F(1).$$

Consequently,

$$|a_2(\alpha)a_4(\alpha) - a_3^2(\alpha)| \leq \frac{1}{4H(\alpha)} G(p) \tag{23}$$

where

$$G(p) = F(1).$$

So

$$G(p) = 2[2\alpha^2(M-N) - 2M + N]p^4 + 8[\alpha(3M-2N) + 3M - 2N]p^2 + 16N,$$

$$G'(p) = 8[2\alpha^2(M-N) - 2M + N]p^3 + 16[\alpha(3M-2N) + 3M - 2N]p$$

and

$$G''(p) = 24[2\alpha^2(M-N) - 2M + N]p^2 + 16[\alpha(3M-2N) + 3M - 2N].$$

Also,

$$G'(p) = 0 \text{ implies that } 2p[2L(\alpha)p^2 - M(\alpha)] = 0.$$

Obviously,  $G(p)$  attains its maximum value at  $p=0$ . Thus,

$$\text{Max. } G(p) = G(0).$$

Hence, from (23), we obtain our desired result. Finally, with various choices of parameters involved, several results (known and new) are obtained. Few of them are given below.



Suppose that  $\alpha=1$  in theorem 3.3, then we obtain the following corollary.

**Corollary 3.4.** Let  $f_\alpha \in T_n^1(a, c, \beta, \lambda, 1)$ . Then, for  $\lambda \geq 0; l \geq 0; a \in \mathfrak{R}; c \in \mathfrak{R} - \{0, -1, -2, \dots\}$ ;

$\alpha \in N; 0 \leq \beta < 1; n \in N_0$ ; and  $z \in U$

$$|a_2 a_4 - a_3^2| \leq \frac{(c)_2^2 (1 + \beta)}{(a)_2^2 (1 + 2\beta)^2 \left(\frac{1 + 2\lambda + l}{1 + l}\right)^{2n}}.$$

Also, if  $\alpha=1$  and  $n=0$  in theorem 3.3, then we obtain the following corollary.

**Corollary 3.5.** Let  $f_\alpha \in T_0^1(a, c, \beta)$ . Then, for  $\lambda \geq 0; l \geq 0; \alpha \in N; a \in \mathfrak{R}; c \in \mathfrak{R} - \{0, -1, -2, \dots\}$ ;

$0 \leq \beta < 1; n \in N_0$ ; and  $z \in U$

$$|a_2 a_4 - a_3^2| \leq \frac{(c)_2^2 (1 + \beta)}{(a)_2^2 (1 + 2\beta)^2}.$$

Finally, suppose that  $\alpha=1, n = \beta = 0$  and  $a = c$  in theorem 3.3, then we obtain the following corollary.

**Corollary 3.6.** Let  $f_\alpha \in T_0^1(a, a, 0)$ . Then, for  $\lambda \geq 0; l \geq 0; \alpha \in N; a \in \mathfrak{R}; c \in \mathfrak{R} - \{0, -1, -2, \dots\}$ ;

$0 \leq \beta < 1; n \in N_0$ ; and  $z \in U$

$$|a_2 a_4 - a_3^2| \leq 1.$$

Incidentally, the result in corollary 3.6 coincides with that of Janteng [18], Theorem 3.1.

## Competing Interests

Authors have declared that no competing interests exist.

## References

- [1] Fekete M, Szego G. Eine Bemerkung über ungerade Schlichte Funktionen. J. London Math. Soc. 1933;8:85-89.
- [2] Frasin BA. Subclasses of analytic functions defined by Carlson-Shaffer linear operator. Tamsui Oxford Journal of Mathematical Sciences. 2007;23(2):219-233.
- [3] Hamzat JO, Gbolagade AM. Coefficient inequalities for certain new subclass of analytic univalent functions in the unit disk. IOSR Journal of Mathematics. 2014;4:Ver.178-87.
- [4] Hamzat JO, Sangoniyi SO. Certain subclasses of analytic p-valent functions with respect to other points. IOSR Journal of Mathematics. 2014;4:Ver.1(1014):61-77.
- [5] El-Ashwah RM, Thomas DK. Some subclasses of close-to-convex functions. J. Ramanujan Math. Soc. 1987;2:86-100.

- [6] Akbulut S, Kadioglu E, Ozdemir M. On the subclass of p-valently functions. Applied Mathematics and Computation. 2004;147:89-96.
- [7] Al-Oboudi FM. On univalent functions defined by a generalized Salagean operator. J. Math. Sci. 2004;27:1429-1436.
- [8] Aouf MK, Shamandy A, Mostafa AO, Madia SM. A subclass M-W starlike functions. Acta Universitatis Apulensis. 2010;21:135-142.
- [9] Catas A, Oros GI, Oros G. Differential subordinations associated with multiplier transformations. Abstract Appl., Anal. 2008;ID 845724:1-11.
- [10] Salagean GS. Subclasses of univalent functions in complex analysis- Fifth Romanian-Finish seminar, of lecture notes in Mathematics, Springer, New York, NY, USA. 1983;1013:362-372.
- [11] Oladipo AT, Breaz D. A brief study of certain class of harmonic functions of Bazilevic type. Hindawi Publishing Cooperation ISRN, Mathematical Analysis. 2013;Article ID 179856:11.
- [12] Saitoh H. A linear operator and its applications of first order differential subordinations, Mathematica Japonica. 1996;44(1):31-38.
- [13] Mahzoon H, Lotha S. On certain properties of neighbourhoods of multivalent functions involving the generalized Saitoh operator. Journal of Inequalities in Pure and Applied Mathematics. 2009;10(4): article 112:6.
- [14] Noonan JW, Thomas DK. On the second Hankel Determinant of a really mean p-valent functions. Trans. Amer. Math. Soc. 1976;223(2):337-346.
- [15] Altinkaya S, Yalcin S. On the Fekete-Szego problem for analytic functions defined by using symmetric q-derivative operator. Konuralp Journal of Mathematics (KJM). 2017;5(1):176-186.
- [16] Altinkaya S, Yalcin S. Second Hankel determinant for a general subclasses of Bi-univalent functions. TWMS Journal of Pure and Applied Mathematics. 2016;7(1):98-104.
- [17] Ehrenborg R. Hankel determinant of exponential polynomial. American Mathematical Monthly. 2000;107:557-560.
- [18] Janteng A, Halim SA, Darus M. Hankel determinant for starlike and convex functions. Int. J. Math. Anal. 2007;1(13):619-625.
- [19] Layman JW. The Hankel transform and some of its properties. J. of Integer. Sequences. 2001;4:1-11.
- [20] Noor KI. Hankel determinant problem for the class of functions with bounded boundary rotation. Rev. Rum. Math. Pure Et Appl. 1983;28(8):731-739.
- [21] Ch. Pommerenke. Univalent functions, Göttingen, Vandenhoeck and Ruprecht; 1975.

---

© 2017 Olusegun and Ayobami; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Peer-review history:**

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://sciencedomain.org/review-history/19998>